4th Grade TEI Practice.notebook April 25, 2017

Hot Spoft SOL 4.8b

Use the check mark to identify the statements below that are true.

3 quarts is the same as - J

[2 gallons] [12 cupsj [36 inchesj
[18 gallonsj 12 pounds

Mar 15-9:31 AM

Drag & Drop

Directions: Drag each statement to an equivalent measure.

SOL 4.8b

10 cups 5 pints
2 quarts
5 quarts
10 pints
3 gallons
1 gallon
5 pints 12 quarts
4 quarts 10 cups
5 cups
10 quarts
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Hot Spot

Directions: Mark each equality statement that is true with a check mark.

13+26=20+19

6x12=9x7

18 x 3

6x9

36 +48=7x12

4.16a

Feb 11-10:14 AM

Drag and Drop SOL 4.9
Directions: Drag each selected time period to the correct box.

Put the time periods with the correct elapsed time.

3:18 pm - 5:20 pm 45 minutes

12:15 pm - 2:45 pm 1 hour 30 minutes

8:10 am - 9:40 am 2 hours 30 minutes

2 hours 2 minutes

1:05 pm - 2:00 p

5:30 pm - 6:15 pm 55 minutes
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Hot Spots

correct answers.

exactly 45 minutes?

Which of the following classes lasted

Class Schedule

Music 8:00 - 8:45
Reading 8:50 - 9:50
Science 9:55 - 10:40

Social Studies

10:45 - 11:20

Recess 11:20 - 11:40
Lunch 11:40 - 12:00
Math 12:05 - 12:50

SOL 4.9

Directions: Use the check mark to choose each Class you want to select. You must select all

v

Mar 15-9:31 AM

Fill in the Blank

Directions: Write the correct answer in the blank.

time shown on the clock.

did they ride scooters?

SOL 4.9

Shakira and Kaylyn started riding scooters in the afternoon at the

If Shakira and Kaylyn stopped riding scooters at 3:30 pm, how long

Mar 15-9:31 AM
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Drag & Drop
4.16b
Directions: Write each equation in the correct box.
(4x5)x6=4x(5x6) (8x7)x6=8x(7x6)
3x(5x1)=3x(1x5) 4x1)x9=1x(9x4)
(2x4)x7=7x(4x2) 3x(8x9)=(3x8)x9

Associative Property for Multiplication

/ Examples \ / Non-ExampIes\

N\ AN J

Feb 11-10:14 AM

Fillin the Blank SOL 4.8b
Type the correct answer to make each statement true.
— T
8 pints = cups
— ___—
— T
12 cups = quarts
— __
— T
3 gallons = pints
~— _
— T
16 quarts = gallons
— ____—

Mar 15-9:31 AM
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